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£ R FEP O | FEFR | RFR|AED| &3
102 # 98.04% | 98.51% | 98.50% | 98.59% | 98.50%
103 # 98.96% | 98.99% | 98.89% | 99.03% | 98.98%
104 # 99.37% | 99.34% | 99.34% | 99.36% | 99.35%
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94.00%
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—
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——RBETL —- R

1034F
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E: 3 %5%3“&»‘ ?F%%gf% f"*?v%&}‘% %@?)’"’1‘ @;‘L

102 # 94. 30% 93. 60% 92. 80% 94. 30% 93. 80%
103 # 94. 40% 94. 00% 92. 80% 94. 10% 93. 80%
104 = 95. 00% 94. 70% 93. 60% 94. 90% 94. 60%
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1024F. 1034F 1044F.

= B el L e T e P [ =i (55 =@ [ =
R i [ % | "% [ s% [ a8 | &% | &4
102 # 10.40 | 10.10 | 10.01 10.41 9.36 12.27 9.71
103 # 10.15 9.76 9.99 10. 45 9.32 12. 30 9.61
104 = 10.13 9.74 9.98 10.43 9.44 12. 80 9.60
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1024F 1034F 1044F

——REfL —m-EE HERPE —e=ZE2H —ea
ER g [RRpFR[ERFR|ARD ] 3
102 # 11.82 13.73 13.16 9.28 9.71
103 # 11.95 13. 69 12. 83 9.08 9.61
104 # 11.83 13. 46 12.74 9.31 9.60
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(=) %4 B T3 THEX(1+10%) 5 F > 104 & 5 <5.11 -
(=) Bz pldsk:

104 # Fplfrdfe=c# s 35,029 =x » Pl idfa® 5 4.52 #& 103 #
2 4.55% 2 T 2 RESTEFFIN -
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BRI RE R L SR ERER e
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7.00 o— = ——— —0

6.00
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2.00

1.00

0.00

1024E 1034E 1044E

=l = IfE T e e =0T =F
£ R % A A P 7 W % B E g .
102 # 4.91 4.5H8 4.90 4.18 3. 88 6.59 4.64
103 # 4.68 4. 31 4. 86 4.16 3.95 6. 87 4.55
104 # 4.59 4. 39 4.73 4.22 3.95 6. 69 4.52
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104 & FE R FE Y (10.15) 2 R F e (10.76)
FUEYEL U B W KB B EEY EPFR
riRG¥_FRalad

12.00

10.00 — —— -

8.00

6.00

4.00 A = K
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1024 1034F 1044
——REL SRR HEEEPE  —e=EEZAT Gl

£ R %?%‘f“"u ?pié%ﬁ}‘;i f«"p%?}‘% fl_d%;ﬁ“r £ 3t
102 # 10.11 10. 96 4.59 0.00 4.64
103 # 10. 25 10. 75 4.51 0.00 4.55
104 = 10. 15 10.76 4.52 0.00 4.52
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2.EWERF=]l &7 & B3 & THEX(14+10%) 5 2+ 25 104 #
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(Z)ERT RIS

114 2SR <l #2755 1.02> %103 22 1.01% 51

AP e st EEm-

D BT 3 E T IEX(1+10%) 5 Lo 104 &

214 # Szl #2555 0.95> & 103 &2 0.97 5
oD B LAY EHER
(Z ) %Y
FITREEF <l Ezm F 104 E EARATE SR (113K
T o(L21) g %4 E W BU LR REST EFEP -
B RBP-BTERF R 2 F
1.40
1.20 [ — g
1.00 ———— —
0.80
0.60
0.40
0.20
0.00
1024F 1034F 1044F
==l —W=JlE —AflE =eFEE e —e—-FHE =
£ R & A it ¢ ? W % A i w &3t
102 = 1.06 1.19 1.04 0. 88 0.97 1.08 1.02
103 # 1.07 1.06 1.02 1.02 0.89 0.95 1.01
104 = 1.03 1.06 0.99 1.13 0.93 1.21 1.02
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1.00 ———————|pl===EEEEEEi;i=:III=--lllll|———————
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0.60
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0.20
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1024F 1034F 1045

=21 —W=ILE e fE =R - —e—HE 5

£ R EA | MR PR | 2% | 3E | A® £ 3
102# | 1.00 [ 0.93 | 0.92 | 0.97 | 0.94 | 0.98 | 0.94
103 # | 1.01 0.94 | 0.99 | 1.04 | 0.91 1.17 | 0.97
104 # | 0.99 | 0.91 0.98 | 0.93 | 0.95 | 1.14 | 0.95
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0.60
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0.20
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1024F 1034F 1044
——EE L, T HIEENE =BT =i
£ R T RRFR | B RFR | AEDT &3t
102 = 1.04 1.16 1.34 1.03 1.02
103 = 0. 88 1. 17 1.39 1.04 1.01
104 = 1.12 1.07 1.47 1.03 1.02
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1024 1034 1044
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&R FHY o [RRFR[EFER[ARD ] B4
102 # 0.93 1.07 1.26 0.93 0.94
103 # 1.04 1.13 1.25 0.97 0.97
104 # 0.95 1.04 1.19 0.98 0.95
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0.20 el X
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1024F. 1034 1044F.

=il —=ItE AR ee=EE -egE =R T
=R + # A % T 3 W B A LW £ 3t
102 # 0.59 0. 52 0.90 0. 56 0.23 0.52 0. 56
103 # 0.57 0.42 0.93 0.47 0.22 0.58 0.53
104 # 0. 56 0.50 0.94 0. 48 0.22 0.43 0.53
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1024F 1034 1044

=520 -l HWEERE — —e=ERF ekt
£ R FEY v | REFR | FRFR|AKDT| 3
102 # 0. 69 0.75 0.62 0.51 0. 56
103 # 0.63 0.70 0.58 0.48 0.53
104 # 0. 60 0.68 0.67 0.47 0.53
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(-) gjﬁ—“; IE"_ ﬁ»’-’r?)ﬁlimg*(HlO%)éi 'Ly 104 # 5 =0.18 -
(=) FHERES
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2 . 141@% TR E R R
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-
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1024F 1034F 1044F

——=2f —m=lfE B SeEE e -e—FE &t
= R 4 | A% | Y% | 3% | BA | AW | &3
102 # 0. 20 0.13 0.12 0.15 0.14 0.30 0.16
103 # 0.19 0. 10 . 0.10 0.12 0. 36 0.14
104 # 0.19 0.09 0.10 0. 10 0.11 0.31 0.14

-35-



(Z) & 9
104 4 & it @ FFFY < (0.40)% B2 Fra0.26)
BHELE U U R B LT EREFN
nRGE_PIRRE EEF
0.50 —
0.40 I —_—
030 —— ——
— —i
0.20
e— — X
0.10
0.00
1024 1034F 1044
=B, —ElEIEE T & B fe =GR -5
£ B %%t‘:u ‘pfé%ﬂ% %‘p%}‘;‘u AR LT £ 3t
102 # 0. 48 0.31 0.09 0.00 0.16
103 # 0.45 0.26 0.08 0.00 0.14
104 = 0.40 0.26 0.08 0.00 0.14
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(=) FHE R

1.104 #mgpx (DT wia 1.17%

#1103 £ 2 1.09%% % o

2. 104 & s 3 f"“'(ll)%"ﬁ;tﬂ_p 0.28% ># 103 &2 0.29%% 5 *°
(z) A7
fm,gg-_t (I)—%"I% e AR 104 E E A RS E S e R A LR
103 & 5> His &% FRFHAEF o
£R RS (D-F i w AR
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5.00%
F
4.00% N\
3.00% \
2.00% \;
1.00% . —— — R
0.00% | f
1024F 1034F 1044
——=Zf —W=ItE —APE =eFEHE e -e—-FHE =
ER %_7“ A % P E 2 W B A L F &3+
102 = 1.25% | 0.83% | 0.83% | 1.10% | 0.55% | 4.62% | 1.07%
103 = 1.19% | 1.19% | 0.86% | 1.01% | 0.60% | 4.85% | 1.09%
104 = 1.58% | 1.37% | 1.36% | 0.60% | 0.77% | 0.00% | 1.17%
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sad (ID-THIE 104 & & & F szt
103 5% B AT ERT RS o

n RS- A (ID-5 45 2
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45% e

8.23% % 0

0.35% ﬁ é I

0.30% —

0.25%

0.20%

0.15% S TTT————— —

0.10%

0.05%

0.00%

1024F 1034E 1044F

=21 —W=IlE —AfE -eFEE -esiF -e—RE &
+ R 24 A% | P% | 8w | BB | A® | &3
102 & | 0.42% | 0.24% | 0.47% | 0.23% | 0.23% | 0.31% | 0.33%
103 & | 0.32% | 0.16% | 0.37% | 0.28% | 0.29% | 0.30% | 0.29%
104 & | 0.31% | 0.18% | 0.33% | 0.25% | 0.26% | 0.42% | 0.28%
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0.60%
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0.20%
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1024 1034E 1044
——B3Erh,  —= BT HIEBEE =P =T
£ R 5};55‘"‘»‘ ’iﬁ*‘*%ﬁ}‘% %’p%l‘fu AR P £ 2t
102 # 1.30% 0. 98% 1.26% 0. 94% 1.07%
103 # 1.74% 0. 94% 1.30% 0. 83% 1.09%
104 = 0. 98% 1.17% 1.59% 0. 98% 1.17%
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——B2E0rh ), —=EEE P b S e 1S I =
R [ 38 < [RRFr[2RFR[ARS] &3
102 # 0.53% 0. 35% 0.27% 0.31% 0. 33%
103 | 0.69% [ 0.33% | 0.20% [ 0.23% | 0.29%
104 # 0.43% 0. 26% 0. 28% 0. 25% 0. 28%
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102 & | 0.20% | 0.14% | 0.23% | 0. 13% | 0.29% | 0.42% | 0. 21%
103 =& | 0.22% | 0.10% | 0.13% | 0. 10% | 0. 16% | 0.20% | 0. 15%
104 =& | 0.25% | 0.08% | 0.19% | 0.17% | 0.19% | 0.26% | 0. 19%
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102 # 0.07% 0.12%  0.27%  0.26% 0.21%
103 # 0.13% 0.07% 0.20% 0.18% 0.15%
104 = 0.14%  0.20% 0.19%  0.20% 0.19%
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——Z L = ILE A E =S =5 —e—HIE =T
£ R A OMR PR 2w BHE| Aw®| &3
102 #| 0.55% 0.44% 0.38% 0.61% 0.60% 0.63% 0.53%
103 = 0.49% 0.40% 0.34% 0.48% 0.47% 0.67% 0.44%
104 = 0.43% 0.31% 0.48% 0.57% 0.29% 0.66% 0.42%
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104-1EE N Kﬁ;y, ‘;F%U;D(O. 57%) & %+ &% @& b et
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=B IR B b A e T =1
£ R %%“f»‘ ?viﬁ%l‘%%?v%l‘%&%é@'%@;
102 # 0. 15% 0. 39% 0.62% 0. 64% 0.53%
103 # 0. 16% 0.27% 0.43% 0.60% 0.44%
104 = 0.07% 0. 35% 0.57% 0.47% 0.42%
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102 & | 30.37% 19.52% 31.97% 25.00% 24.09% 24.39% 26.63%
103 & 16. 64%| 15.22% 21.86% 14.86% 12.75% 14.59% 16.19%
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102 = 47.89% 32.32% 24.07% 20.31% 26.63%
103 # 28.57% 17.43% 14.86% 13.56% 16.19%
104 # 29.18% 17.18% 15.11% 14.53% 16.68%
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104 & ] 99.32% | 99.50% | 99.52% | 100. 00% | 99. 41%

-58-




Hb>8.5g/dLz F » 104 # 2 =3By 7 & %5 &
RS 7 HB>8.5g/dLE A vt

91.00%

90.00% o - p—

89.00% 4§~<.k/ =

88.00% //

87.00% ——

86.00% A=

85.00%

84.00%

1024F. 1034F 1044F
——EEEL, i IR HEEEE e BT =t &5

102 # 89.20% [ 90.20% | 88.00% | 86.30% [ 89.50%
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104 = 1.07% | 0.50% | 1.77% | 0.92% | 1.43% | 3.28% | 1.22%

-71-



ETLVE

RHF(D-FTHi v 104# 2 ks B BFFY 2 R
T

Frupi 1034 505 36 K R AR -

3.50%

S AT (D-F 3 i 7R

3.00%
2.50%

2.00%

1.50%
1.00%

0.50%

W

0.00%

A

1024F

—— B B

L2
1034F

[
1044F

R =BG —e=GE

£ R FEY | FRFR|EFFR(AED T AP
102# | 0.55% | 1.61% | 3.13% | 0.00% | 1.11%
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103 # 1.57% | 0.60% | 0.52% | 4.76% | 1.17%
104 # 1.35% | 1.11% | 0.51% | 0.00% | 1.2
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